Gom . |. FEd MI TISEES 99 ATEdTdt o2 |
2. Y-y grSifedmT Iadf TS WE B RS € Hasy et dedrar
Crad

3. SY-TY TG g0 HAE M3 THE U3T gaa" My
4. e faeart gt uferfeagt R R wa wre =3

995 © Gar gergeT|

5. [y-IJy gitfeubyt adf famz, efa, 79 Mg mae Afwrt

g9 gt 2T |
6. HATES It Yifumret et fammg gesT|

3.1 @IEH (Multiples)

A € AT € 32U Aftprret § greT 13T AT 7 3T S gIeses YU
dJerdIfeggreses sda greT digt Afvr ergreq ger d | I e areaest

& fors 7% 2y -
(1) 4x7=28 (2) 8x6=48
(3) 2%3%x4=24 (4) 9% 10=90
QuIEE I A YU FET T

(1) Afenr 28; 4T Ter ISH T
(2) w48 6T SETTSH T
(3) Afanm 24;2 3mT 4TvIEd I
(4) Wi 90; 9T 10T TS T |

WJIH AHTUETSE »T BWIW AHUEaTIw



few gt Aftrm © grew, E3t At § wigsa Aftmret 1,2,3,4.5, ...
&% gIET gad YU d1F AT Aae 76 |

3ETeH 8 &dqew
3E1=13 B x1= 8§
3%x2=6 8 x 2 =16
3Ix3=5% 2 x 3=24
3 x4=12 B ¥ 4 =332
3 x5=15 R x 5 = 40

Suagz Geu9af€93.6.9. 12 ... 3T A=A MT 8, 16.24.32 ... 8
TASH TS |

o e

WY dd

¢TI AftrHT MUE MU BT IEH T |

¢ Jag Aftr 1St aER T

¢ WA AT ergEA GREt At e e AT @R T S ger 9|
+ Hfenr €7 Ag T 82T greA Aftowr ye at gt 31

3.2 GIE5HF (Factors)
GIES )

¢ gresds a3 fEw sfent & 6-6 975 <3 a €57 & g9 Agw fAdt gz
. ¥z 39, TearaTE I A wrfeITETd I &8 v B a9 | st =
- AT, y=<t a39, T99rgT9 AT fezTaTd Ha® g2 ait, O fE3 9w gest ot
Hign ©F areads 92ait |
gfaut 8 g=retwT areht a3maT © 939 05 fay =dta 578 g1 -
L1337 000000

fic™

i |



2.9391 @ 17391 00O 5. 0
392 @ cergl - X X ) 00
393 @ :;
F374 @
395 @ 4. 71O . @O
a3796 @ cearpl - X ] o
Cetcil - Y - ] :; i
° b

Quigz fdzsrfeu, 3o & I feages 1 aga e, f9zad: 296
gag &g, fdgg s 3feg2aaer ffama fdae & 4 e 3 ggwr f&g
99ty fE9 ®are g 95 | a3 939 & 5 mT 6 ST ges Qug oF »iawe
Io3te 29 &47 sare g (7= fou mrfegrarg A S99 wig3t &t
Qo) fev gestiz se Qe st adtsdtus Ifdge & 1 F4fE9 6 &
JEHHF =1,6,2MF 3T |

6O aEaT = 1.2,3,6

famr Aftpm € areasds uzT g9 et feahyt !

(a) FreT feut (b) <7 feut:
1 x6=6 6+1=6
2x3=6 6+2=3

6+3=2
6+6=1

few Igt 1,2, 3T 6 AftH™ 6 € AT 54T I5 |

¢ 1739 Aftowm (A= T fast) &7 gresds 71 .

» gaa A (AT 5 fast) miuE mru & gresds T ‘

¢ 1 fan Aftr o7 AT 3 ST grEaUT T

+ faw At ©F 19 5 37 gresds At ye §et T

o 7 ufast ffowr, gt ffeorr € gresds T 3t awt Afarr, ufost Afepyr
o gred J=ait |
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3.3 fAg = 2 Aafum=® (Even and Odd Numbers)

wiftnue 98d 8§98 I @ Aftmr=r 7w o fouar Ifes s@a a8 2 €
10 yfon™ T i<t gan g foy® nigrTa s=ar |

& % 0

feg fea wan & 7 faehat W3 g7 gan <9 ¢ fafent sarear)
niftrug Sfamt § Shar fa fagt faetnt € 73 5= 77 g5 Go dAfiewr
fanz €t 3 w2 7o et © A2 &t gee 37 Gu Afumr 2fg 31 T

@ o @ ®
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® e ®| @
e

) 6

7 f&att & A9t 541 5= 9t few &et 7 oiq Afer 71

6 fifemt &t T3t 5= aret 7 fem &2t 6 farz Afamr T
o wifomrua miuet afeur vigag 59 Gergdst S € AaeT J|
L T et 2 ¥iat Afedr 74 B T, 74 AT o7 fend due ©f wgeg
. &t | frge fewd wt fearet mars @St fftwnr 4 & &t sam @vst arstfedt

. grdt g9 YT |

HiaT 4 Tt et &t © gafidt &9 73t 5= a9t 9, fer 58t
74 frmz Afamr T

|
|
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g& Mt 3 nial Fftmr &€ 97 175
1 7 (5] wwY fegret mams =t Aftonr 5 & fiet gan T3t aratfedt avat
g9 F YT |

: Fefpr 5 ot faraport oF st i Tt &t w21, few met, 175
e Afun T

few 3gt, fair <t Afenr € fearet rars @& wia & Fud ot #int Afanr e |

fARS »3 gfag 0= €7 U3T ®ar Ade J7 | i
+ © fAns Afinret o d9 ot s Aforr 3t T, fA= : 2+4=6
v ¥ 2ig Rt o Az St o g Aftmr d<t 9 e 143 =4
o &g fang w3 ffq oig ffiprr e a3 oimt i Afir 361 T
fAe:2+3=5

[y

U dy

+ 79 fan Aftrr o feamst RS & i 0, 2, 4. 6, 8§ T 3T AftT fART
Jeait M3 dag feael AEs & ofa 1, 3, 5, 7779 §& 37 Aftmr &
Jeat|

» frAz Aftdr oHET 2 5% 5T Hiet & WMT 2 oHET AR Aftm &7 gresds
Jerd|

Qeas 1 dat4s5, 9T g@qa?
% 45 & 95 grar fel:

45,9 &% ygr Efagwr Tier 7| fen et 45, 9qea I |
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Qewas 2: ar82. 8T geHd?

2 gt

82, 8 7% UaT &d1 Sfawm Ater| few et 82, § &7 gred &4t
o

Gewas 3: 9T ufus g9 aresH ey 7

d%: 9x1=9

9x2=18 9x3=27 9x4=36
fer set, 9T ufom g9 arew 9, 18, 27 WF 36 I5 |

@ewes 4: 12T AT J=aus fBH |
9% . grer feat

1 x12 =12
2 x 6 =12
3 x 4 =12
4 x 3 =12
6 % 2 =12 » JESUST I TIIE T T T
12 x 1 =12

few 3gt, Aftpdm12 € A9 AEaYT 1,2,3,4, 6 T 1275 |
grar feut

1)1 2(12 2)1 2 (06 3)1 2 (04
= -0 -0
0 2 ] 2 T 2
-2 -1 2 -1 2

=
=
=
=
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4)1 2(03 5)1 2(02 6)1 2(02
-0 -0 -0
1 2 1 2 1. &
-1 2 -1 0 -1 2
0 0 0 2 gar 00
7)1 2 (01 )1 2 (01 9)1 2
-0 -0 -0
1 2 1 2 1
- 7 - B =
05 s&t | 0 4 st 0
10)1 2(01 11)1 2 (o1 12
-0 -0 -0
1 2 1 2 1 2
-1 0 -1 1 -1 2
0 2 g4t 0 1 =ar 00

fen f@g 128 1,2, 3,4, 6T 12 578 yat Ig+ g fapur

JIfer &, 12T TEHET 1.2, 3,4, 6T 1275 |
Qewgs 5: T8, 72 e aeauz d7?
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72, 8 5% YT Sfan Aer 7| few Bt 8, 72 €7 Ieaus 1
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so o o ¢ o I ¢ ¢ ¢ + - -
th b w

(a) 5 b 9 (c) 10 (d) 12
(c) 16 ) 17
@ s[1[2[3[4]s] |
) 8|1 /2[3[|4|5]|6]7]8 L
() 14/ 1/23/4]6[7|8]9/10/11/12]13|14
@ 12|1]/2|3[4[5]|6]7[8]9]10[11]12
(@) 25|12 [3]4]|5[10[15[20]25[30[35[40]45
h 36(1[2[3[4]|5[6]|7][12/18[20]24[30]36
J&T gt Afunret € gesds fBa
(a) 18 (b) 24 (c) 35 (d) 36
(e) 45 () 21
. It e Aftmiret & Ayt @S fams AftoreT 83 ¢
(@] 12 723 [ 3416 19 [ 28 |
(k)| 35 | 48 | 53 | 69 | 72 | 90
(c)| 450 | 213 | 568 @ 664 @ 789 | 98
(d)| 235 | 456 | 968 @ 604 | 731 | 888
()| 63 | 136 | 245 | 446 | 1278 | 2341
| 47 | 168 | 999 | 1729 | 5864 @ 6859
. J&t et Aftmiret € Ayat (€9 27 Afumet 85 |
@] 11 [ 23 [ 54 | 16 | 19 | 35
)| 36 | 45 | 58 | 69 | 76 | 97
(c)| 451 | 215 508 614 | 789 | 983
(d)| 237 416 948 | 654 | 739 | 666
()| 631 | 135 | 249 | 746 | 1279 | 2851
)| 49 | 178 | 765 | 1729 | 9261 | 6859
BT gt 39
(a) 4x9=36fST 36T THUT ... MTF ..o T5 |




(b) 8x7=56fT 56 T=aUT ........

IR T o [t - C——

(d) 8x10=80fET 8¥F 10T TSH ........

(e) 2x3x5=30fF9 ....... I M
7. sl w3 am3 By .

(a) 24, 24T TEcUF T
(b) HftpwT 2 I9F ATt @ aTeadz T |

(c) 24 fArg fAfteyr |
(d) 134 Za Afemr 3

=,

(e) Tad Aftp™ € TIEeA MBI I I6 |

(f) 36,5MFT TevISAJI
(g) € fang Afumret e 4= ovmt oia Afwn §o1 T |

(h) mg T &<t frms Al 0 T

() 152 e ffep T
(j) f&a nig =@t farg ffunret S o |

8. =AU U295 AHT w3 99 :
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(b)
(c)
(d)
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10. AHT M3 &9 :

b6 £6 £
9000 00 00

0

o A S D
&
OO OO ©
R A ddddddds (1
frr = = AN T rpp——
e, 9, &, wis w firea, dy Afrret ©f @2 agaT 9.
frm & filg g e, @a i & wlrer
fifipnr @ fam T det, G &g 7t @57 et o,
et amit ST A= | FEEEs mrgeT
: fee, i, Um, A wia &, AEERE S St Al
fomr & filé e, a7 aremdE s
frfemir firt it S T, Feees feaye Gater,
Zw BowEEE | e Wil ' J{E |
/ )
3.4 mi@H (Prime) W3 77 (Composite) Afumret
TJeasyst ot fare3t @ g '3 vt O/ A O7 fa & fadt fifinret E9°
faost Afunr g1 T I faost »ig= T 1 ufoshnt 10 fftmret € gresds 05
:fﬁs‘i‘rmaﬁ:—
2 1 € IESHUT =
2 ¥ gISauT = 1,8
3 € dIEaYT = 1.3
4T ST = 1,24
5€ dIeauyd = 1,5
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6 € AES3HT = J.2.8.6

7€ qEEET = o

8T IToUT = 1,2.4,8
0T JIESHET = 1,3,9
10 @ greads = 1,2,5,10

Gudag rraet R nift ewe T fa Afimrr=t 2.3, s w3 Te fase &8
grEads I8 @ 1 mF Afer ye | feast § miame (Prime) Aftmr=t gffe o5 | :
Afemrat 4, 6, 8,9, 10 € & 3 20 greads 75 | feus™ & 377 (Composite) .+
Afymret afde x| *

waTe Afemiet (Prime Numbers) : @7 ffuret fane frge @ ot aresds
J=, @95 & MITH Aftret afde a5 |

L 2

g AftpH=T (Composite Numbers) : €T fftpyet fage € 3 e*ur
T=aY3 T, Qs & I Aftprret afde 514, 6,8,9, 10 ..

+ gT A=s feg @ser T fa ffodr | S T, T/ AT g™ ?
fa@fa Afipyr | o fAge ffa Tt Tesdz T, fer gt feg s 3T IR T
KEEAEIREIE]

1 ™3 100 fegaa g AftmreT |
193 100 fegama nigw Afiret & 35 {8y nigrme uzr dizTAm Ager 7 -

Ell@_@_x.@,x@ X:K_)ﬁ
D) 17 @) x| 32|07 |19 %
Hx@xxxmﬁ@m
:@}I%MHN|@HHM

f.M.HMW@M%E

3| ¥ (53) 4 | 36 wﬂx.w
(DN w.ﬁ 59 K
:@3{@3{% % | 3{'|'}E.M
M ¥ .M.M%_mw. 5
3 5 > 3|5 % (67) % b4 b0




uar 1 + 13100 Aratt Afumrret fay |

UaT 2 : 2’3 a0 BTG wT 2 € gl AT diedT T X Barg |
T 3 . 3’3 Jd BaArg »iF 3 € I9] Ad dedT 3 X Barg |
Uard @ 5’3 ddd Barg MI 5 € gdl A9 diedT 3 X Barg |
T § ¢ 7’3 Ja9 BArg mF 7€ TA A9 aIEAT T KX FArg |
Ugr 6 11 ' III BArE T |1 € gET AT ISAT T X BArg |

uar 7 . few yfafour & €% I gaofen 72, A% 39 et
Higwret '3 |77 37 999 = A7 Xd= |
uaT 8 1 §ug gan 56, fatfa feg fedus Afpwr T
Iy T & | 1 T 100 fegard e Aftprrar 2,3, 5, 7, 11, 13, 17, 19,
23,29, 31, 37,41, 43, 47. 53, 59. 61, 67, 71, 73, 79, 83, 89 »iF 97 T& |

few rrast & fedendts ©f gsat fagr Ater T

* AitprT 1 &7 3T I T M &7t M |
+ fAae 2 ot mifAdt fAas Afewr &, A mEw T |
* A8 T &t i A 271
* AE T &t TA Afepr 4T
ERG] EZE?YHE:IEIBE (Prime factorization) : fea a1 Afuwr 'Q' L EAE
geaust & grer € gy &9 fafumr ar raer T | fend g Tesdsiass
Jide & |

few gt & feabnt o5 -

(a) Jeadz wong feat  (b) Far feut

(a) TEHHT TanT fat (Factor Tree Method)

few feut migtes wHT 31 Afwsr € grIesds ©¥ 3 gdv af, A 3d
H'S ATd WM gIEaHs YT &7 I 7 | WS gresys eoyd feut aat 48
¥ JIE5HT HETEIY |
A‘-f-u 68 afes-5
I




(b) 3va7 f=ut (Division Method)

fen feut muls, »iAT €31 Aftmm & 7g 2 821 mae Afvwr 5% €327
HY 99T M3 @R W Fa I Afunr=t oe EFigT A 39 1 ST A |
48 [Et mig Aftmr 578 Sfam]
04

12

.

s ) BB

6
3
1 [8% o I I A=t 58 S5 72 39 | T T A
48 T HMITH JEEUSIEIE =2 x 2% 2 x 2 % 3

3.5 HU3H ANU=I3d (Highest Common Factor/H.C.F.)

arsifedt

wifommua - HfeG, vuE raw fRe etz fee fad a9 a5 7

CEl - M I8 HT 75 Y
wfwug - g OF, muet Ags S Undt ang feg fas s9as 7 -
C - MW 27E9 TS| f

wifua - ot S=FT 3T € gfowt § 8 o ST g 7 feg uw
YIS I MT 99 2 €9 go99-90790 99 &2 95 |97
fssu TSy g fSeao e o513t H

et <t 97 W I T s afa A= |
HOSH AHUSSST T AWIW AHUSIS5 ﬁ\,[/k'é
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k=

59 - H3W AT 7-7 59 B¢ 7" Aa© I6 |
nftmiuer - &dt 5196, 9-9 99 ®¥ A Ade J5 | feosT @t €3 faw
ygTd a9t AT Aaet 7, W fiye ot |
18T FrEads - 1,2.3.6,9, 18
27T IJEB/UT - 1,3,9,27

18 w3 27 €7 &F I I AT IrEaT 9 | few 3T mwt 9-9 fgmt Shut
. T gereTar, fAn &% aEt <t "9 dW 3 g7a9 &dt gdar | few ffwwr 9,
o Ff=t 18 M 27 € HAZ. JI
. oG g wiEt Bftprret 35 W 30 ETH A= UST 995 of aAF a9 Ot -

7o feq Aftmr grdt Afr Fygs 3e I T T gHa d T Tr aeasus
gfde o9& | fAe’ 35 & 5 ydt 37 <ser J1

fer et 5. 35 v aresdg I 35. 5erdled |

5x7=35

5T 7,35 ASBUT IS MT 35, 53 T IS J |

feragrax3=x5=30; 2,3mMF5,30¢ TS58F T5

Sudaz &3 o Qurues €9, 35 W3 30 T Ieadat & s s 2 |
fegt aresdst fea 5 o=t Afumret v Aty greads 7| few &8t 5, 30 M3 35
T HTSH AHTUSa3d (WA =) T

HISH AIHUSd3d (HAE.)der J|
+ {ag € ffimret @ HRE. 1 32 I Aftret Bfg miave niyer@ et
I5 |

HASE.U3TddaT
WHTH A . & € Jdifan’ 578 u3r gae 7 |
(1) greadg feat (2) €= feut
mfo e RN ST Ales et Mt AT 9w o &9, 99
(ARG R HUZ BEt 82 3 82 Hug =% =13 of 898 u3T g95 o
ywett fafewr, g8 § wuE &F ymat fafewr nife ageret 7= sig R 2. S wasar
g ST 7= |

Sr'-': Ao (N afes-5
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3.5 (1) H. A 2. usS™ a5 ©f maH areaus feul
Ay 3 ufast eIt Afunet & AT a™H IISada U3T Jaidr |
feg A 71T wige greadst § fedst 8y a grer a9t
fegaeses WRE. T
Gemgs 1: 20MI 0T HAR. MIH IISaYS feut gt ugraq |

LAR 2120 2|30 _
2|10 315 :
5|5 515 e
e = |

00T HIHISSHT =2%2x%5
EMITAISEET =2 %3 %5
A'Y WE'H aIEaus 2 M3 5T5 |
20MIT 0THAT. =2%x5=10T|
€ewas 2: 45,90 % 105 T HAE. MaT Jea4us fedt gt uzT a9 |

Tt

J%
3|45 2 (90 3| 105
315 345 535
AE 3[15 JE
Tt 55 1
B

45T MIHASSET =3 %3 %5
WEATTHAESHET =2x3%x3 x5
103 I TISaT =3 x5 %7
S ey ISAET 3 M 575 | o
45,90 MF 105 T HAT. =3%x5=15T] :
3.5 (2) HA.Z. U™ aa3& of gvar feqt
g7 fegt oot I By el s H RS USTEIST AT HIET 7|
+ 8¢t Wi & IAa M3 ST AT § ITH S BE MI gaTad | A
g&t 0 &1 T I+ gfogwr grat, o= &=t IHa 529 wI fugsT IHe
ST 5T

I




« few yfafem & 8w A Fa ool A Fa gat 0 &5at mrger|
« MHlgsT ITHA, BECHAZ. JI

HAZ. & gvar fedt § a8 fedtw @erges ot rume atgr am faar 3|
Geuas 1: 75T 105T HR=. 9o fedt gat usT a9 |

!

% WHAT 105 75 &% g9 gl |

7531 05(1
ferzgt 30 FatEgeTd, IS 75
Uﬁl’é%'ﬂ T 75 gw:ﬁ% 30)75(2
w3 g4Et 859 30 § 9T, -y
few 397 »iar <0, fasT fog
g1 () 54T 59T lﬁjiﬁﬁ
wyta®T gvad 15 J | few sEt, 75 .

W I0SETHAT. =159 —
Gouas 2: 60,.90MFT 130 HAST. garfedtaatuzsTaa ?
dw . ufgswAt far S @ Aforsrev A S UST ade OF -~

60) 90 (1
~60
30)60(2
~60

0

G0MT T HAZ. 0TI
IE 30 MF Staat Afuwr 130 e H A . UsT ade df |

30)130(4
120
10)30(3
30

—

0

ferr B9 60, 00 T 130 TTHRE. 10T




Qewas 3 : 3= 90T &9 18 feq, 27 fBea wiT 36 feca 3w T I fausr
<F I TITHF 993& Fa31e 3T A fIET FoHT € 3B & yat
3TTHY Ad 2 9751 I8 &7 5T |

J8 : fEF wfAd Hua 9938 @7 H'Y UZT J9&T J, 7 AT FeHT &
3% & ygT HU A | fem &9, wift WA=, U3 aatar |

9) 36i4

18) 27 (1

-1

‘JiIBiZ

8

—1.8

0

-36

.

few &t 9 foes e wua 5935 s 390 € 3% & ydt 3§+ 1Y AT |

1. g5t fedtmt Aftmret € Aot (€9 nigw Afanret g€ nig fed -

(a)
(b)
(c)
(d)
(e)

12
2

10
18
27

8

5
4]
29

5
11
25
23
37

z
13
35
17
47

6
16
42
19
49

3
21
3
27
39

2. I fedtwt Afmret & ATt RS I Aftpret g€ w3 fod

(a)
(b)
(c)
(d)
(e)

14
21
23
10

43

7
12
32
25

24

s
18
37
5

47

6
17
41
7

49

3
11
15

50
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3. T et Aftpret " H A E. acaus fegt gt usT a9 ¢
(a) 18, 27 (b) 21, 63
(c) 80, 100 (d) 42, 98

4. T5t [E Aftpr=t " WA =, Teays et gt usT a9
(a) 30, 50, 70 (b) 24, 32, 40
(¢) 36, 60, 72 (d) 25, 30, 35

(a) 42, 84 (b) 45, 90
(c) 16, 64, 80 (d) 45, 90, 105
6. o5t [Estt Aftmret e R.E. 31 fedt gt usT a9 ¢
(a) 48, 60 (b) 120, 140
(c) 12, 18, 64 (d) 60, 96, 128
7. @0 &5t I <51 Afwr uzT a9 fATEt 60, 75 W 90 & Ug-UTT 5 |

8. 3w sdur fSu 36 feea, 45 fecamz 72 feea du g 18o S5 I <3
9935 oR, frogT Bt sovr e du g udt Se WU AT 7
3.6 BW3H AHUETIW (Lowest Common Multiple/L.C.M.)

’E‘

L
L
& R - ’ A d -
| 5. I feah™ Aftmiet 87T H A.E. nigH geaug feutaat usT a9 ;

wiftmrue dfemt § aaar fa rrst Ua=t s (fe we—uie fas 99 3=,
| fagt & mint 35-f3s M3 gra-—gra et eEt gaT welle I 7 aet <
. YT W T EI ET T |
' wifmrusr - 3% dfent St ufost 28t & wimue d ggear miz Uear
fa few f&5 9o sfout St E8t g Faet 7 7
e - &at#t
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wiftmmua - 3% gfewt € ffq 99 28t § mue g% g8ear W3
Ugdr fa ge He a8 ¥z dfowt f&9° 979 dfomt ef 23t
g< Aot J 7 7 9% Aot I 3T df e 597 28t I §99
I &dt goar ?
g9 - #tof, ffq 28t gaait w3 © 89 ¢81 3§99 afg A7<ar |
wiftnrue - 35 gfeont & B 39 281 § WU a8 g3edr W3
Uzar fa ge ve am ug dfew’ & of fea 97 99 .
Hfon &t 28T 5= Aa=T 7 ? 7 9= AdeT J I ST JET H9T «
2Bt 3 ¥7gg 37 &4t gadar ¢ "
g9 - #t gf, f6q 99 e®t g=ait »iz ffq g97 et 3 a9 afv
HrEar |
wftwrugr - 3% dfewt & fEq 39 281 § Wue a8 g3edr M3
Uedr fa o= Ha & ug dfowt feT gt fa 99 99
Hfew € e8t 9= Aaet J ! 7 9 AA<T J 3Tt et 9T
28t 3 g9 3 54t gaar ?
Sl - # gf, fq I9 28t gSait W3 Tt < guT o8l I g9
&dt afg Ar<ar |
wftmmug fég dfent § aregral fée Ie Snar fa ufost »ift f35-f35
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